Worksheet 9

Square. ( a—4b ) 5. Square. (9x -5y )

A.  a —8ab+16b° A, 81x* +25y)°

B a’ —4ab +16b° B 16x* —10y°

C. a’* —4ab+8b° C. 8Ix*—45xy+25)°
D. a*+16b° D. 81x*-=90xy + 25y’
Square. ( 4aq —5b ) 6.  Determine the quotient.

A. 164’ —40ab + 25b°

B 16a* —20ab + 25b* A.
C. 16a*> —20ab + 10b?
D. 164° + 25b B.
C.
Square.  (3x+7)
D.
A, 9x* —49
B 9x* —42x + 49
C. 9x*+49
D 9x? +42x + 49

A.
Simplify. (3x - Tw )(3x—7w)
9x> + 49w’ B.
B. 9x* —49w’ C.
C. 9x* +2lxw+49w’ D.
D. 9x* —42xw+ 49w’
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(x2—4x—4)+(x+1)=

x+1
x—5- !
x +1
x—-3+ 13
x +1
x+5+ ?
x+1

7. Determine the quotient.

(6x2+5x—1)+(3x+4)=

1
x+4

2x -1+
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10.

Determine the quotient.
(6a2 —4a +12)+(—2a2)
A.

B.
C.
D.

Determine the quotient.

2 6
2

-3 4= =

a a

—4a+9

-3-2a-6d*
—3+4a-124°

(x3+8)+(x+2)=

Determine the quotient.
(2427 +47¢-21)+(81-3)

A.

B.

A
B.
C
D

X’ =2x+4
X —-2x-4
x*+ 4

X +2x+4

3t+7
3t+7+ —42
&8t -3
3t-7
3t+7+—
8t -3
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11. Determine the quotient.

(36" +6b" =3b—4)+(b+2)

A, 3 +3+
b+2
B. 3h* -3+ 2
b+2
C 3b2+3+_10
b+2
D. 3b* -3+ 2
b+2

12.  What is the y-intercept of the line
whose equation is 3x+5y=-157?

A (-5,0)
B. (0,-3)
C. (-3,0)
D. (0,3)
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